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CLS(\Y)  .rem this is remark (A1) AICED)

Input A (Vo) Print "hello” (\¢) N =50y
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A$ = "I love my country"

BS = "T'll study hard to pass”

Input "Enter two numbers:" ;a, b, c

Av2 = (a+b+c¢c)/ 3

PRINT AV

PRINT AS$+BS$

S=AV +1

PRINT S, AVG
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REM Final Exam

REM (QBASIC is my game)

Let X = N mod 8

let T$ =X$ + Y$

XS = "Good Luck”

X=X+3*N

Y=Y+15

Input A,B, C

Input A$ ,B$ , C$

Input A$ ,B, C

Input name$ , m1 , m2 , m3

Input "enter two numbers:"; nl1 , n2

Print (n1 + n2) / 2

Print , , , m

Print , "R"

Print , , , , , "Jordan First" ¥
N

Print A,,,,, 5/100 *B ¥

Print w8 | w$ | wh \ ™

Print "The sum isZ":‘G}; 1(32

Print
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Input n

Print n, n mod 7

2)

Inputa,b,c

Printc, b, a

3)

Input X$

Print X$ + X$ + x$
1)

Input a$ ,b$,c$,a,b,c
Print a$ , a

Print b$ , b

Print c$ , c

S5)

Inputh,m,s

Print h ;":"; m ;""; s
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Input time QG
Print time*60 , time*60*66\»;\
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Input P

V=P+16/100 *P

Print V

8)

Input Y2 ,Y1 , X2, X1

S=(Y2 -Y1) /7 (X2 /7 X1)

Print S

9)

Input X1 ,X2,Y2, Y1
F=(X1-X2)"2 + (Y1-Y2)"2) " 0.5
Print F
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Input r

V=4/3 *3.14 *
Print V
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CLS
Print "enter mark & name:";
Input X , A$
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